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1,t>0
1(t):{0t<0

o Il |

S 7 (ramp) B %k
t,t >0

f(t):{o,t<0

6(t) = {

L[] =1
X s Il X1/s
£1W] =

X SII x1/s

1
LIFO] = =

36



" S

STSREMDRIZETEIE  Final Value Theorem

4 f(t): XME[0, TITRIFESY, f(0) BNFET HET, A
}gin(l) SF(s) = f(),s ER
N ALY LD, y




» BN
EEIZIE _
| r@etde = sr(s) - £(0)
0
FY s-50&THEEBIT
fo £/(6) dt = (o) — £(0)

DT
lingsF(s) = f(0),s ER
S—

MRYILEITHD. (KR, BEGERERTH, £2140D)

38



" JdE
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sG(s) = SJ g(t)e stdt + SJ g(t)e Stdt - 0,(s - 0)
0 T
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d? d dy
1}%%75*55% (F) y + 2 (a) y — 3y — O; Y(O) — Clia (O) = C

NEZoNT=LE,

1) MM EREFZ A EHIT.

2) 5L (A2 +2A-3)y=0THDDT,A>+2A—3=0% AIZDLVNTHEIT.
3) A24+2A—3=(A+3)(A—-1) &Y A =-3,1.

4) % y(t) = aje 3 + ayet ERE, EREVREFHIVYEDH L.

HEh W TIIWITEEA

1 do not Veﬁtse my dinner simp ly because 1 do not understand the

rocess of digestion.
P f 5 Oliver Heaviside
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